Nemissions

—

d
Ngdin (RZAR) din

Ratio to ATLAS

1/2)

=
N

=

o)

0.4

0.2

0.5

0 Ge

1300

v pp

NN AR
IN(R/A R) (Lund plane 2.36<In(1/z)<2.63)

— B ATLAS .
~  --G-- Herwig++ 2.6.3 default 7
- --3-- Herwig 7.2.1 default o
N B -~

it a._ N
I ’ . ’r’ “Ni\\ —

,'. L7 AN
— R . . 7 N ]
- . —
B B ol ; |
| sk H _
= e ——"@’ \\\

[ g BB -
| 1 [ | | | Ly 1 | 1 | | A N |
:l T T T T | T T T T | T T T T | T T | T :I
B _ P snaaniiind —_Eh“‘ O |
SO o EEs e E Ty e = - A -

S = o @ -
o "0 0o -
| " 1 " 1 1 " 1 " | " 1 1 1 " 1 " | " 1 1 1 1 " | " 1 " 1 " | " 1 " 1
0 1 2 3 4

In (RIA R)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


